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C=C1/L1+CZ/L2+ """
(CHORCHNT, C, Cyv CorRUL ;0 Ly lE TNENRDEERITEDET B,
C #&f8

Cyv Corens YOOTER & 00\ I s h B T 15 418 + 1 SR ES R HNEF 9
Ly Loyeeee MOERC L ONRHIREEEE Fa bR A B
E (
)
0.1mg/ 0.21mg/ mg/ (

)
_ 0.1 mg/m3x2K;fE+0.21 mg/m3x 285+ 0 mg/m3x 4K

WA 2B + 28RS + 48RS

= 0.078 mg/m3
R 1mg/

( pm) ( ppm)

ppm
2.5ppm
( ) Cy/ Li+CL Ly (ppm)/ (ppm) 2.5(ppm)/ (ppm)
0.6 0.625

1.225
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FOUNBTFIL 2 ppm - AN -F=2 s 0.1 ppm LU 0.02 mg/ri
FADABO, O-ZIFI-0
FUILEEAFIL 2 ppm - F2UT 0.5 ppm = = (2—AVTOEN-6-AF o0 oo _
N-a-LUsSo)) ey M0
FoOLAY = 0.1ppm* A 10 ppm = s
F}:fzﬁ%:ﬂ'—il«i"bﬁb-;)z)bjf 2 mg/mi _
< (BIESRLT A SA
L lla TR O Lo i = ININTINFER - 0.03 ppm”
) FESAFNFOSLIRNTA 5 pons _
B (BIaFO5L) ’
FERTFLFER — 10 ppm £00T9> (MBELETFIL) 100 ppm =
~USOORSEE 0.5 ppm -
TR 10 ppm - oooesu> = 0.1 ppm*

L =2TFI—N-AFILAILIN

*— N (BEAIIIL) 0.5 ng/mi =
TP IERUS - 5 ppm B 10 ppm 15 ppm

=wil 1 mg/nd =
F=U> 2 ppm " STH I P 1 mg/ri "

Ot 0.1 ppm -
=F~>§3ﬁlf§*/ 20 8= 11 b - e - S04 et N= [1—- (N-JNRNL-TF

Mj;wrgjm ]
- 2 = =O0ONFILT =2 - 5 ppm A= IVUIL] BILICE B
FINTT - AFILAFL 10 ppm = 1S

AUTL> 3 ppm = ggggf;';ééfi 1=27 5 pom = NS -Sonnssts 10 ppm =

“fWROz - 5 ppm 2, 4-20007x /FAME 2 m/m - £3~9—E/v')—73’-}bwl.«:|: 1 ppm -

—BE =R 100 ppm - 1, 3-HoO0Fo> 1 ppm - E RS RUEO—KIIN 0.01 ppm =

(720> -HnTOSHFL 5 g/ < 2 0o n 2 =Tl s ey = EkOF/> 1 ng/r -

IFUFZ IR 2 ppm 4 ppm STTTIFES 5 mg/m - eIl 3 mg/mi =

2 -IFNAFHE 5 mg/m - SRS 0.01 ppm - Uz 1 ppm =

IFLZUa-IL 10 ppm 50 ppm N, N—SAFIILZERFPZE 5 ppm - T AFI S 1 ppm =

IFL>oO0erU> 2 ppm - TAFITES 2 ppm - 2-JFF- = 0.3 ppm*

IEZOOERUS 0.5 ppm - BnE - 0.2 ppm TNIS— 0.2 ppm =

W7 UL 1 ppm s LEShY 2 ppm - ZILZUNFILTI—IL 0.2 ppm -
1-ZoE7o/M 0.1 ppm -

25 BRI T T

SgaUn= kUL 1 ppm -

AFIN-F—p U -TFILT—

FL (BI&MTB E) 20 ppat =

4, 4'=-AFLZPTUS 0.4 mg/m

D AAEKE 0.05 ppm 0.15 ppm
DABERURUL (DABSRY

GHUR= hU) RS, )  O03mm -
LAILE =) 10 ppm -

ppm mg/m3
ppm  mg/m3
(mg/ ) ()7 ()>x ~( /  ppm)




